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P arulel Axis Theoem

Beuse of symmetry it is prety stougld forward 1o determine
de moment of inertia about fle (oner of wadh oA o mifam object -
but obects are of¥n robafing ahoot 0 different Axis. TWis s whee

fng Paraflel Axs Theoem COMES e

2
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moment of inertia abovt any axis PARALLEL o Thout is given by
the epution, whee m is T mass of The object and b is The

distance between the two par allel axes.
For exomple, imogine ue have a disa of mass M
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DERIVATION

lets ddermine the mowewt of werta of
o cojeck about anaxis as swown. The
grean dot (s The (ewler of mags.

B\{ definifion
T = frzdm
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(%,y) are the coordirates oF the lite mass
g,) are The Coordinates o The Coner oF w3

(0,h) O tho coordinais of The \ittemess with
respect tp the Cewler of MaSS.
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¥ Remember that the X coordinaie of Tho Cowlerof MaSS

(sgivenoy  x - thgxam o
Since the vanadle o ts the X coordinale of “dm- with respect
to the cener of mags, e integnal has o be egual 10 0 by
dehniton, [Likewig (bdm is 0 e b i measired

Brom The Comker of mags.
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